

MAHARASHTRA STATE ELECTRICITY TRANSMISSION CO. LTD. CIN No. U40109MH2005SGC153646

From:

EHV Projects Division – I

3rd floor, Administrative Building, 925, Kasbapeth, Juna Bazar Rd, Pune.

Contact No.: 020-24579223, 24572129 Fax No.: 24573602

Email Id: ee6610@mahatransco. in

EE/EHVPD-I/PN/T//TL- 152/ 1515

Subject: Enquiry for the work of Shifting of 22KV HT line passing from premises at 400kv Jejuri ss

Date: 26.08.2019

Dear Sir.

Please quote your lowest percent rates for the works indicated in schedule 'A' enclosed on following terms & conditions:

TERMS & CONDITIONS:

- 1. Rate shall be quoted on firm quotation basis inclusive of all Taxes and the rates shall be given in words & figures separately.
- 2. Your quotation should uploaded in SRM tendering portal on or before **03.09.2019 up to 5:30pm** (RFx no- 7000013758).
- 3. No T & P & Labour will be provided by the Company.
- 4. The work shall be completed within 8 days from the last outage, otherwise penalty @ $\frac{1}{2}$ % per week subject to maximum 5 % of the order amount will be levied at the discretion of the Competent Authority.
- 5. Income tax & W.C. tax will be recovered from your bills as per rules.
- 7. You will have to pay **Security Deposit** @ **10%** of the order value in favour of MSETCL towards due performance of the contract.
- 8. If any damages occur to the MSETCL / MSEDCL property during execution of work, you will have to make them good at your own cost.
- 9. Payment will be effected by this office by cheque after satisfactory completion of work.
- 10. The undersigned reserves the right to place order either partly or fully or to reject any or all the quotations without assigning any reasons whatsoever.
- 11. Income Tax will be deducted as per Government rule.
- 12. PAN & S.T. (wherever applicable) should mentioned on Quotation.

- 13. The contractor should have the experience of similar work in the shifting of HT/LT feeders/lines during last two years. The experience certificate should be enclosed with quotation.
- 14. Copy of updated Shop Act License, PAN card, GST Registration, and Electrical Contractor License registration issued by Government of Maharashtra should be upload. 15. In case of any dispute decision of the Executive Engineer, EHV Projects. Divn.-I,Pune shall be final and binding on the agency.

Thanking you.

Yours faithfully,

Sd/-Executive Engineer EHV Projects Division-I, Pune

Encl: Schedule A & form for quoting rates.

SCHEDULE A

Subject: Enquiry for the work of Shifting of 22KV HT line passing from premises at 400kv Jejuri ss

Sr.No.	Discription of Material	Unit	Rate	Qty	Amount
Supply F		No	4.4705.55	1 4	50000 40
1	R.S.J. Pole 116X100mm, 12 mtr long M.S Channel 100x50x6 mm	No Kg	14705.55 61.73	4 175	58822.19 10802.75
2	W.S Charmer 100x30x0 mm	Ng	01.73	173	10802.73
3	M.S Channel 75x40x6 mm	Kg	61.73	25	1543.25
4	M.S Angle 50x50x6 mm	Kg	61.73	30	1851.90
5	M.S. Flat 50x6 mm	Kg	57.80	40	2312.14
6	22kv V cross arm with clamp	No	1079.35	2	2158.70
7	22kv top fitting	No	455.09	2	910.17
8	22kV Pin Insulator With G.I. Pins	No	408.43	12	4901.15
9	11kV Disk Insulator, 7000kg	No	418.76	36	15075.44
10	Strain Hardware for Dog 0.1 or Equ AAAC	No	391.02	18	7038.39
11	AAAC 100 sqmm	Rmt	61.75	1050	64842.02
12	H.T. Stay Set	Set	713.17	7	4992.16
13	G.I. Stay wire 7/4mm (8 SWG)	kg	68.46	70	4792.52
14	H.T. Earting Set	Set	407.86	4	1631.43
15	Concreting Ration 1:4:8	Cmtr	3155.89	5	15779.44
16	G.I. Wire 8 swg /6 swg	Kg	68.40	20	1368.08
17	GI Nut Bolt	Kg	94.72	20	1894.45
18	Danger Board	No	60.78	4	243.13
19	G.I. Barbed wire 'A' Type	Kg	76.60	20	1531.94
20	Red Oxide Paint	Ltr	72.94	4	291.75
21	Black Bituminus Paint	Ltr	72.94	2	145.88
22	Alluminium Paint	Ltr	114.18	4	456.74
					203385.63
Erection	Part	· '			
23	Sundries + Dismentaling charges	L.S	11918.00	1	11918.00
24	15% Labour charges on EX-Work of supply total amount	L.S	29909.65	1	29909.65
					245213.28
			Estimate Cost	Say	245213/-

Sd/-Executive Engineer EHV Projects Division I, Pune.

FORM FOR QUOTING % RATE FOR ITEM INCLUDED IN SHEDULE A FOR Shifting of 22KV HT line passing from premises at 400kv Jejuri ss

Name of Work: work of Shifting of 22KV HT line passing from premises at 400kv Jejuri ss Estimated Cost: Rs 2,45,213 /- (including GST)	
I am ready to execute the work to	
% above (In words	_ % above)
	_ % below)
the estimated cost. Dated	
Signature	

Note: 1. If the percentage variation is more than 5% detailed rate analysis should be submitted along with the quotation.

2. The rate should be exclusive of all taxes.